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| $f K 4 ouT IN [TOTAL|HDCP | NET
& B &5 39 | 38 77 10 67
B EE B= 39 | 39 78 10 68
3 i ER #— 36 42 78 9 69
4 fi R BX 35 39 74 4 70
5 {u BA R 37 | 4 78 7 7
B-G R BX 35 39 74
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& B BR 5h 41 43 | 84 12 72
B KE ZEth 39 | 42 | 81 8 73
3 fi WA % 4 | 42 86 13 73
4 i wE 41 46 87 13 74
5 {u R = 47 | 38 | 85 10 75
B-G KE Et 39 42 81
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| $f K A ouT | IN |[TOTAL|HDCP| NET
& B B =¥ 45 | 43 | 88 | 20 68
#EEBi BA E2 45 | 45 | 90 | 19 71
3 fu bk L5 43 | 44 | 87 | 15 72
4 fi FiE e 41 47 | 88 | 16 72
5 {i BH EX 4 | 46 | 90 18 72
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11H $—HA6# B K Bk B =

II—-KITAL FDES
| $f K A ouT | IN |[TOTAL|HDCP| NET
& % FE KER 43 | 49 | 92 | 22 70
B oA Bla 44 | 49 | 93 | 22 7
3 fu Nkt 8 43 | 43 | 86 14 72
4 i AIEF A8A 44 | 48 92 20 72
5 fi PE BB 42 | 51 93 | 20 73

B-G Nkt 8 43 | 43 | 86
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